
M14x35 (x4)

M12x100 (x4)

M8x60 (x16)

M8x45 (x12)

M14x35 (x4)

M12x100 (x4)

M8x60 (x8)

M8x60 (x8)

M8x45 (x4)

M8x45 (x8)

A.C.B.I
TEL : 01 69 88 18 40 FAX : 01 84 18 03 14

 www.acbi-sa.com
ACBI 20 rue du Bicentenaire de la Révolution

91220 Le Plessis Pâté

SCHEMA DE MONTAGE DU SAUT DE LOUP

VISSERIE SAUT DE LOUP

A

A

N
O

TI
CE

 D
E 

M
O

N
TA

G
E 

SD
L0

61
5


